RIGOUR

ap MNU 2-11b Homework 5 Level 1§
Outcome 1 Outcome 2
Millilitres = Cubic Centimetres = Litres Litres = Cubic Centimetres > Millilitres

v

Change the following

units of measurement-... units of measurement-...

Change the following Q‘\

& 9Iml=?2cm® & 77ml=?cm® | L 12cm*=2ml & 618 cm?=2ml

s 820ml=?cm®> & 5I1=?ml & 7300cm?®=?2ml & 9000 ml=2|

&S 491=2ml £ 6031=?>ml | & 22000ml=?1 & 734000ml=2]I
Z 331=?ml 8 31=?2wm? Z 50000ml=21 & 22000cm?®=2I
S 471=2cm® LL 5551=2cm® | & 7000cm?® =21 1L} 500 000 cm> =? |
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